
 

 

 

 
 
 
 
 

Controller Option (M109) 



 

 

Controller Option (M109) 
 

PARTS CATALOG 

 
This catalog gives the numbers and names of parts on this machine. 

 

 

 
1 Controller Option (M109) ･････ 2P

Parts Index ･････ 6P  
 

 

December 28, 2012



 

2

Memory Unit Type N 1GB (M417-03)

Camera Direct Print Card Type L (M417-15)

VM Card Type W (M417-19,20,21)

SD card for NetWare printing Type M (M417-16)

IEEE802.11 Interface Unit Type O (M417-06) IEEE1284 Interface Board Type A (B679-17)

Hard Disk Drive Option Type C730 (M417-01)

1
2

3

4

5
6

6

4

5

7

8

9

10 11

12

13

14

15

 

1. Controller Option (M109) 



 

3

Index

No.
Part No. Description

Q’ty Per

Assembly

Index

No.
Part No. Description

Q’ty Per

Assembly

1 M4175051 COVER:HDD:OPTION 1

2 M0185754 SCREW 1

3 M4175050 SHADEING PLATE:HDD:OPTION 1

4 AA143848 STEPPED SCREW - M3 4

5 AA161167 BUSHING:HDD 4

6 G1045141 KNOB SCREW:M3 3

7 D3625132 HARNESS - HDD 1

8 D3625131 CABLE - HDD POWER 1

9 M4175001 HDD:TOSHIBA:250GB 1

10 M4175200 PCB:WLAN-PPEC1:ASS'Y 1

11 B5955670 PCB ASSY - IEEE1284 1

12 M1305245 PCB:DDR3-DIMM:RC-C:1GB:ASS'Y 1

13 M4175015 SD-CARD:PICTBRIDGE:EXP:ASS'Y 1

14 M4175016 SD-CARD:NETWARE:EXP:ASS'Y 1

15 M4175019 SD-CARD:VM:EXP:ASS'Y 1

1.Controller Option (M109)

 
 

 

Ed
Sticky Note
New part
PCIL: May 2014

Ed
Sticky Note
New part
M417 RTB 2



 

 

 

 

 

 

 

 

 

 

 

Parts Index 
 



 

6

Part No. Description Part No. Description

AA143848 STEPPED SCREW - M3 3 - 4

AA161167 BUSHING:HDD 3 - 5

B5955670 PCB ASSY - IEEE1284 3 - 11

D3625131 CABLE - HDD POWER 3 - 8

D3625132 HARNESS - HDD 3 - 7

G1045141 KNOB SCREW:M3 3 - 6

M0185754 SCREW 3 - 2

M1305245 PCB:DDR3-DIMM:RC-C:1GB:ASS'Y 3 - 12

M4175001 HDD:TOSHIBA:250GB 3 - 9

M4175015 SD-CARD:PICTBRIDGE:EXP:ASS'Y 3 - 13

M4175016 SD-CARD:NETWARE:EXP:ASS'Y 3 - 14

M4175019 SD-CARD:VM:EXP:ASS'Y 3 - 15

M4175050 SHADEING PLATE:HDD:OPTION 3 - 3

M4175051 COVER:HDD:OPTION 3 - 1

M4175200 PCB:WLAN-PPEC1:ASS'Y 3 - 10

Parts Index
Page and

Index No.

Page and

Index No.

 


	1. Controller Option (M109)
	*Hard Disk Drive Option Type C730 (M417-01)
	*IEEE802.11 Interface Unit Type O (M417-06)
	*IEEE1284 Interface Board Type A (B679-17)
	*Memory Unit Type N 1GB (M417-03)
	*Camera Direct Print Card Type L (M417-15)
	*SD card for NetWare printing Type M (M417-16)
	*VM Card Type W (M417-19,20,21)
	Parts Index

